Answers

Hal Broen 412%-2]24
2.3,5

1.4 Practice A

1.2,3,5,6,10 1.5 Practice A

3.3,9

4. not possible; 152 is divisible by 2, but not divisible
by 3. Therefore, 152 is not divisible by 6.

5,14 =114 6. 26 =126
 14=207 26 =213 5
7.51 =151
51=3+e17
.18 = 18
B8 =1¢ 4. 4 5 11 6. 10 7.17
18 =249
18 =396 ’ 8 1 9.6 10. 12 11. 15
9, 36 =136 12. 18 13. 39 14, 21 15. 1
36 =218 16. a, 6 practice teams
36 =312 b. 2 new and 2 returning female students
36 =49
36=66 17.9 18. 4 19. 8
10. 47 =1 47 1.9 =3 20. Sample answer: 13, 26, 39
12. 49 = 7* 13.28 =22 7 21. sometimes 22. sometimes
14,50 = 2 ¢ 52 15. 66 = 2+ 3 o 11 23.2. 6
b. Sample answer: 54
16. 38 = 2 ¢ 19 17. 700
18. 396 19. 144 = 2% « 37
20, 243 = 3° 21, 475 = 5% « 19
22. Composite because the total number of students is
divisible by 3.
23. four arrangements; 120 by 1, 40 by 3, 24 by 5,0r 8
by 15 ;
24. a. Sample answer: 2 ¢ 3¢ 7 = 42
b. Sample answer: 2° » 5 ¢ 7> = 1960 1.4-1.6 Quiz
1. 1, 26; 2,13 2.1,32;2,16, 4, 8
1.6 Practice A 3.2 05 4.2% e13 5. 4
1.6 2. 20 3. 18 4,15 6. 3 7. 8 8. 6
9. 48 10. 60 1. ) ' ‘
" e 12. 84 13 20 14 a7 or 1—23
13. 96 14. 200 15. 168 ' 21 T4 24
16. 5 is the GCF, not LCM; The LCM is 30. 15. 6 players, 7 players
17. a. 21 days b. 2 piano lessons; 6 tuba lessons 16. 12 bowls 17. 20 days
18. 105 19. 6 :
6 20.24 21. 7:35 AM. 18. 5 packs of coins; 3 packs of coin holders



